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SECTION - A
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i) General Awareness

The Judges of the Indian Supreme
Court appointed by

(A) Prime Minister of India

(B) President of India

(C) Chief Justice of India

(D) None of the above

In which of the following city firstever
National Museum of Indian Cinemas
recently inaugurated ?

(A) Chennai

(B) Mumbai

(C) Bengaluru

(D) None of the above

What is the main objective of UNNATI

programme of Indian Space Research

Organization ?

(A) Capacity building programme on
nanosatellite development

(B) Women empowerment programme

in rural areas through satellite

applications

(G) Rural development programme

through satellite applications

(D) None of the above

In which one of the following states in
the country Civil Aviation Ministry has
launched the first Gl (Geographical
Indication) store ?

(A) Telangana

(B) Goa

(C) Punjab

(D) None of the above

In\which one of the following states of
India Tarapur nuclear power station is
located ?

(A) Rajasthan

(B) Tamil Nadu

(C) Maharashtra

(D) None of the above

6.

10.

What is the capital of Uttarakhand ?
(A) Raipur

(B) Bilaspur

(C) Dehradun

(D) None of the above

UNESCO recently announced which one
of the following cities will be the World
Capital of Architecture for 2020 ?

(A) Rio de Janeiro

(B) Shanghai

(C) Amritsar

(D) ‘None of the above

First ever printing press brought to India
by

(A) French

(B) Portuguese

(C) Dutch

(D) British

Which of the following software giant
has announced the launch of InfyTQ a
learning app for engineering students ?
(A) Wipro Limited

(B) TATA Consultancy Services

(C) Infosys Limited

(D) None of the above

What is “EPIC” stands for, which is
voter’s identity card issued by an
Election Commission of India ?

(A) Electoral Photo Identity Card

(B) Election Photo Identity Card

(C) Elector's Photo Identity Card

(D) None of the above



(A) HSwre fom gT AT o
FIFH

(B) 3T TN g1 ATHI0T &1 H ufeet
BN E R ADE |

(C) 39U WA g AT fashmE
FaHH

(D) 3o H @ HIE el

. 2y 4 fefafes § @ = o=ai § 9 9
IS T A TEell Gl 2R I T & 7
(A) dTHT

(B) T

(C) W=

(D) 3% H § HIg A&

. Trafafed 4 8 ara & forg o= 8 aaq
Tfirehrg wifed RyH feoq 2 7

(A) TSR

(B) wlerTg,

(C) HENrg

(D) 3% H & HIE T

10.
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AR — 3
i) ETHRT AR
. 9Rd % Felted e & AR # | 6 Imrde f qwaH R
fgfda _ gmshisidt R (A) TR
(A) 9Rd & ggEEA
(B) Toremq
(B) 9Rd & TeHfd ©) 3
(C) W& = &F AT Sy
(D) 39§ § HI3 A2 (D) mﬁ?aﬁﬁ:@f
PRttt en-d T d gy | 7 ol s @ fem R e 7 2020
e SR et o T SR <! ferval aTeqehett TSU SFE i Eon
3guTed fFa ? 7 #:2 7 \
(A) =T (A) feit € smfen
(B) 4o (B) ¥
(©) STy ©) vmmR
(D) 3o # & rg T (D) 3% H | IS 72
. VT STAE STTHI TS % UNNATI | 8. IR o1 Ul ST9TEHT (J30erd) $7i
FRIHH 1 Y& T&T F1 8 ¢ e e

(A) %=

(B) i

(C) =+

(D) 37
rfimnfreht ferenfefai = fore e ug
Infy TQ =i I[E3ATT 1 J9o e °
¥ form aiveaT srre 3+t 7

(A) faui fafiee

(B) 2121 FHEereH! afdgd

(C) ziftm fafiee

(D) 3 H F IS T

“EPIC” fraer foru a1ren 2, S wrdTE
TATS TR 3T SIRT foT T Hae™
TEIH IR 7

(A) THFA B3I g e
(B) 39HYH Bl RS F1E

(C) T3 BIe! TS e

(D) 3% H ¥ FI3 A&l



1.

12.

18.

14.

15.

16.

A book “Third Pillar” authored by
(A) Shaktikanta Das

(B) Manmohan Singh

(C) Raghuram Rajan’

(D) None of the above

Irani trophy, a trophy associated with
which one of the following sports event
in India ?

(A) Badminton

(B) Cricket

(C) Football

(D) None of the above

What is the chemical name of Bleaching
powder ?

(A) Calcium bicarbonate

(B) Sodium chloride

(C) Calcium hypochlorite

(D) None of the above

Kala azar or Visceral leishmaniasis
caused by

(A) Virus

(B) Bacteria

(C) Protozoa

(D) None of the above

Which of the following country is not a
member of BIMSTEC association ?
(A) Bangladesh

(B) India

(C) Sri Lanka

(D) None of the above

With reference to share market, share
price what is “SENSEX” stands for ?
(A) SENSitivity indEX

(B) SENSational indEX

(C) SENSational share market indEX
(D) None of the above

17.

18.

19.

20.
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Every year Sadbhavana Diwas is
celebrate on

(A) August 20

(B) September 22

(C) March 3

(D) None of the above

Which of the following is the tallest
man-made structure in the world ?

(A) Fazilka TV Tower, India

(B) Burj Al Arab Jumeirah,UAE

(C) Burj Khalifa,UAE

(D) None of the above

Recently which of the following app was
launched by Agriculture Ministry to help
farmers to hire farm related equipments
with affordable prices and cutting edge
techriologies at their door steps ?

(A) Farm Bee

(B) Kisan Yojana

(C) Uber for Tractors

(D) None of the above

Which of the following statement/s
given below is/are true about Samagra
Shiksha-Jal Suraksha scheme of
Government of India ?

1. It creates awareness about water
conservation among all school
students in the country.

It helps every student to save at
least one litre of water per day.

1 only

2 only

Both 1 and 2

None of the above

A



4.

12,

13.

14,

15.

16.

U T U e % o

(A) wifFasma s

(B) HHEA fife

(C) TIUH TSH

(D) e H H IS e

&t 2kt v | fafefea o @ fom
TAF A J R ?

(A) Sefiied

(B) Terare

(C) Fesiied
(D) 3% | & HIS T

ST IT3e 1 TeEHE TH F 2 ?
(A) Hfcaay SgEFEHS
(B) Hifeaw wamrEe |

(C) Ffcyrm BrEuEIEe
(D) 3% H U HIE el

e ITSTR A1 forte SvmfefE
BT AT ST |

(A) fommy

(B) Sfamy

(C) eI

(D) I H @ His T&

f=afefiad 9 @ *i9-31 291 BIMSTEC
THITGUTH 1 T 9o e § 7

(A) ST

(B) wid

(C) sficie

(D) 39§ T FIE 7=

PR TSR, I Hed o e § “SENSEX”
_ wfduam?

(A) SENSitivity indEX

(B) SENSational indEX

(C) SENSational share market indEX
(D) 3§ & IS e

17.

18.

19.

20.
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g o HguTaaT feam
AT SR |

(A) 20 3T

(B) 22 fadsr

(C) 3w

(D) 3 | ¥ IS T

frefafad 4 8 #R-a1 g =1 vem
S AT G 8 7

(A) BIfSTesht 2t 2R, Rd

(B) TS 3T IS AT, 0

(C) i e, I

(D) 3% H W HIE =

T 8 § Frafafed @ | #9- & FN
T ER i FI HEEdl & Wd €
T ITH 1 TeA1T Yol 3R HiET
TS qeh1e1 Afgd 3 T 9T 3UcteY FHH
B vE PR R 7

(A) ®H &t

CRESIERISE

(C) JsH B

(D) 3%d O B HIg Tl

raforfaa 1 @ i o S omm feren-si

TR AN o TR § A -T1 FH T © 7

1. e fererh fenfi S se
TRE0] F TR H SRl ST 2 |

2. I8 s faendf =t afafen v <fex
STt S H HETdl T © |

(A) FHad 1

(B) FHaA 2

(C) 13 2aMH

(D) I § ¥ HIE T

El




21.

22.

23.

24,
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i) General Intelligence and Reasoning Ability

Choose the correct alternative that will
continue the same pattern and replace
the question mark in the series.

3,7, 23,957
(A) 62
(B) 128
(C) 479
(D) 575

Choose the missing term out of the
given alternatives.

WFB, TGD, QHG, ?
(A) NIJ
(B) NIK
(C) NJK
(D) OIK

Income is related to profit in the same
way as expenditure is related to

(A) Balance
(B) Loss
(C) Sale
(D) Receipts

Ina certain code language, BEAT is written
as YVZG, then the code of MILD ?

(A) ONRW
(B) NOWR
(C) ONWR
(D) NROW

25.

26.

ok

28.

In a certain code, RAIN is written as
8$%6 and MORE is written as 7#8@.
How is REMAIN written in that code ?
(A) #@7%%6 (B) #@&$%6
(C) 7@#3%6 (D) 8@7%%6

Pointing out to a lady, Rajan said, “She
is the daughter of the woman who is the
mother of the husband of my mother.”
Who is the lady to Rajan ?

(A) Aunt

(B) Daughter

(C) Sister

(D) Sister-in-law

There are 5 persons. P's father Q is B's
paternal uncle and A’s husband M is P’s
paternal uncle. How is A related to B ?

(A) Daughter (B) Son
(C) Aunt (D) Mother

Six students A, B, C, D, E and F are
sitting in the field. A and B are from
Delhi while the rest are from Bangalore.
D and F are tall while others are short.
A, C and D are girls while others
are boys. Which is the tall girl from
Bangalore ?

(A) C
(C) E

(B) D
(D) F



21

22.

23.

24.
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ii) ATHT=T glgww aun atfhes argar

T8 et fasen g <t 3ht ¥ =i
ST TET & SR Ee ° AR
gfereerfie sea R

3,7,23,95,2?
(A) 62
(B) 128
(C) 479
(D) 575

Teu e foskedi # & ow 98 i)
WFB, TGD, QHG, 7.

(A) NIJ

(B) NIK

(C) NJK

(D) OIK

3T 1Y § 34t TR HefYd ® o ger
= HHere |

(A) I

(B) =

() faght

(D) wferat

I@@ oTST § BEAT ! YVZG feran

ST &, 1 MILD 1 %2 8
(A) ONRW
(B) NOWR
(C) ONWR
(D) NROW

25.

26.

27.

28.

TF %2 §, RAIN %t 85%6 TR MORE
%1 748 @ forar sran 2| 3¢t e °
REMAIN &I ferat smem

(A) #@7$%6  (B) #@&$%6
(C) 7@#%%6 (D) 8@7$%6

TS 37T ol SR I A Y UG A
Fe1, “gg U wren % ufd ) uran o
21 98 3TN T st 1 AT @ 7

(A) g3

(B) A

(C) =&

(D) @t

ute =afF 81 P& fuar Q, B& == @
ANAFIM, PHIETEI A BE

fra yFR gafa 8 7
(A) TH (B) I#
(C) ==t (D) ¥

3: foeneff A, B, C, D, E &t F @a H
¥3 21 A 31T B fooett @ € St ameht
e ST 8 €| D 31 F oid & 9afs
T T9 312 B A, C T D wrefear
2 Siafr 3779 e | ST 8 Fa
GECACAE A

(A) C (B) D

(C) E (D) F




29.

30.

31.

A,B,C,D, E FandG are sitting in a
circle facing at the centre and playing
cards. E is neighbour of Aand D. G is not
between F and C. F is to the immediate
right of A. Which of the following does
not have the pair of persons sitting
adjacent to each other ?

(A) BA
(B) CB
(C) DE
(D) GD

In a queue of boys, Sandeep is 10t
from left and Lalit is 5™ from right. The
places of Sandeep are interchanged.
If the new position of Sandeep is 15
from left, then the new position of Lalit
from right is
(A) 10t

(C) 12t

(B) 11"
(D) 13"

Vinay remembers that his brother
Anupam’s birthday is after 20t of
August but before 28" of August, while
Rita remembers that Anupam’s birthday
is before 229 of August but after 12t of
August. On which date does Anupam’s
birthday fall ?

(A) 20" August

(B) 218! August

(C) 22" August

(D) Cannot be determined

32.

33.
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Which interchange of signs will make
the following equation correct ?

(16-4)x6+2+8=30

(A) +and-
(B) +and x
(C) —and +
(D) +and +

A child is looking for his father. He went
90 meters in the east before turning
to his right. He went 20 meters before
turning to his right again to look for his
father at his uncle’s place 30 meters
from this point. His father was not there.
From there, he went 100 meters to his
north before meeting his father in a
street. How far did the son meet his
father from the starting point ?

(A) 80 meters
(B) 100 meters
(C) 140 meters
(D) 260 meters

Which name will come in the last in a
telephone directory ?

(A) Mahindra
(B) Mahender
(C) Mahendra
(D) Mahinder



29.

30.

31

A B,C,D, E, F 3R G &g &I 3N 7@ Hh
TF A IS E MM AV TEAREI E, AT
DHF ISR R G, F3flt C F i d & |
F, A qid a1d ¢ | Fefafiad & 9 sF-a1
T —TH o 1 -H1Y 93] g3 AFdal 1

FE AL E

(A) BA

(B) CB

(C) DE

(D) GD

ASH! il U Ufaa #, v A @ 1097 2
3 wiferq ed & 537 @ | G %1 T
199 A e fean smar 2 | afe v
T IYFE N F 1591 2, 91 218 F afera
EakpikDIch

(A) 1oaf (B) 114al

(C) 124af (D) 134l

o =1 a1e R T 3us 91 squm =+
STAfEd 20 31T % 918 @ Tig 28 G
B ved ? Fafs a1 1 A R f6 squm
F1 F-Afed 22 FMEd d YA ? W
12 37TEq & 916 @ | IT9 HT FHA
forg feq yeaT B 2

(A) 20 3FTEd

(B) 21 3r&d

(C) 22 37T

(D) THeffra 72 fon s Tk

32.

33.
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a1 & FH-91 7R fgdd Fefafea

G 1 T FOT 2
(16 -4)x6+2+8=30
(A) =3 -

(B) + 3TN x

(C) -3+

(D) + 3R +

T ST 370 T h g T R | TR ge
Yueet 90 A g A TR | I8 H: A g
¥ gt 20 Hi Fore 39 foig & 30 X
370 T % 9 3¢ gedl © | I foar a&t
I Y | 981 F, 98 9 e | e 3 @
100 Hiet 319+ 3o A W § | SARfwe foig
& el o 7 T frn & freren 2 2

(A) 80 Hiex
(B) 100 X
(C) 140 e
(D) 260 HX

U AP SEEd | FH-91 9 3id 8
AT ?

(A) Mahindra

(B) Mahender

(C) Mahendra

(D) Mahinder



35.

36.

37.

Given the sequence,

BCM@NELT2Y6S0Q$7+W#
Z3UE%AA4.

How many symbols are there in
the above sequence each of which
is immediately preceded and also
immediately followed by a vowel ?

The total number of digits used in
numbering the pages of a book having
366 pages is

(A) 732

(B) 990

(C) 1098

(D) 1305

A monkey climbs 30 feet at the beginning
of each hour and rests for a while, then
he slips back 20 feet before he again
starts climbing in the beginning of the next
hour. If he begins his ascent at 8 a.m.,
at what time will he first touch a flag at
120 feet from the ground ?

(A) 4p.m.
(B) 5p.m.
(C) 6p.m.
(D) None of these

38.

39.

40.
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How many times in 24 hrs. the hands of
a clock are in straight line but opposite

in directions ?

Which year will have the same calendar

as that of 2012 ?
(A) 2020
(B) 2040
(C) 2025

(D) 2031

Find the missing number from given
alternatives.

ﬁ ?
6561 81

(A) 9
(B) 18
(C) 24
(D) 27




35.

36.

37.

14-

ST
BCM@NET2Y6SuQ$7=WH#
Z3UE%A4

4 fore fog U@ 2 59 @d veat st g
e o UF TR AR 7

(A) HIE &

(B) TF

©) &

(D) diH

366 531 I U T o T3 WSS T
foraa % foru aifea gt o1 1 ven 2
(A) 732
(B) 990
(C) 1098
(D) 1305

TF Fa YoIF He FHI JEAE H 30 e
a1 & 3R U 3 A Fa € e T8
fraerert 20 Fie = 311 571a1 2, 398 ved
T 9% 31Tt %2 qH: e & a1 @ | 3l
I8 g8 8 5% Fe&1 I[F FIal & 98 THIH 9
120 Fie 3 T Fie ! foha gm gum 7
(A) 4p.m.

(B) 5p.m.

(C) 6p.m.

(D) ¥ ¥ FIE TEl

38.

39.

40.

MKG-XXI/TECHLWO/1T/04

24dﬁﬁmﬂwq§a@aﬁxﬁa‘i’vﬁ%ﬁ
@ ¥ g wig foodia fesmai ° &ift 7
(A) 20

(B) 22

(C) 24

(D) 48

fora = =1 9= 2012 % St B 7
(A) 2020
(B) 2040
(C) 2025

(D) 2031

feu mmu faehel # © @@ 14 Hifs
=]/




41.

42.

43.

44.

45.
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iii) Arithmetical and Numerical Ability

An arithmetic progression has 13 terms
whose sum is 143. The third term is 5,
then the first term will be
(A) 4 (B) 7
(C) 9 (D) 2

If the vectors i—j+Ak, 4i+2]j+09k
5i+j+14k and 3i+2j+7k are the
position vectors of 4 coplanar points,
then A is equal to
(A) 6

(C) —-10

(B) 12
(D) —12

If 2¥— 2¥-1 = 4 then x* is equal to
(A) 7 (B) 3
(C) 27 (D) 9

Roots of the equation 2x2 + 3x + 7=0are
a.and f. The value of o~ + Bor ! is

(A) 2 B®) %

7 |
© 7 © -19/,

If a, b are any 2 real numbers and
a > 0, b < 0 then which of the following
is true ?

@ L1
a b
1 1
© 276

(D) none of these

46.

47.

48.

49.

50.

If a fair coin is tossed 10 times, the
probability of getting 6 heads is

105 1
A) 515 ® =33
3
(C) 512 (D) none of these

7 books are to be arranged in such
a way so that 2 particular books are
always at first and last place. The total
number of arrangements is

(A) 60 (B) 120
(C) 240 (D) 480

The angle between the vectors i —j and

j—kis
B %

2
(A) %
5
© 5% (D) 7
Area of the region bounded by the
parabolas y? = 6x and x? = 6y is

(A) 33_53q. units (B) 8 sq. units

(C) 12sq.units (D) 22 sq. units

The probability that A speaks truth is
%, B speaks truth is 34, then the

probability of each contradicting the

other is
. ,
®) Y0

(A) %0
(D) None of these

© o
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42.

43.

44,

45.
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iii) STV UE WS TrIan

e T A7 % 13 ug § format AT 143
# | i 9e 5 @, d1 gEell ug g

(A) 4 (B) 7

C) 9 (D) 2

Ifg afewri -+ Ak, 41 + 2] + 9K,
57+ ]+ 14k 3 3i+2j+7k IR
Heauachy fogeti & fafa ofew &, 1A%
TR

(A) 6
(C) -10

(B) 12
(D) —12

gfa 2% — 2x-1 = 4 |1 x* T 2
(A) 7 B) 3
(C) 27 (D) 9

THIHT 2x2 + 3x + 7 = 0% qed o 3T B & |

off~! + Bo! FTHE B
(A) 2 ®) 3%
7 i
© 7 O) -1/,
Ifg a, b g1 aEafas d&aW & it

a>0, b<0 d fa=fafaa § 4 ==
gz ?

46.

47.

48.

49,

50.

Ife we feaer foeer 10 91 310 ST 8,
1 6 fod 2= i v 2

1
05 B) 1

) 512

512
3 . :
©) 512 (D) ¥H & IS T
7 I 1 39 TR Safeer fora s 2
T 2 fauiy qeash gum ofit 3ifaw Tum w
Tt | et I el GeT B

(A) 60 (B) 120

(C) 240 (D) 480

AFi—j -k H A FFOR
() 2%/ ® 74

©) 7% (D) %4

TEAT y2 = 6x 3TN X2 = By Y TeId TSI &
(A) 3—35-sq. units (B) 8 sq. units

(C) 12sq.units (D) 22 sq. units

A, %aﬁhﬁm%aﬁts, %ma’ra?ﬂ
2, 91 ST FR A FI ST HIiva H

YTieRdr 2
®) 720

(A) %0
(D) 378 ¥ I3 T

© Yoo



81;

52,

53.

54.

55.

A takes 3 hours more than B to walk
30 km. But if A doubles his pace, he is
ahead of B by 1.5 hours. The speed of
A is (in km/hr)

10
(A) 5 (B) 5
(C) 5.5 o) 20

3

The age of a father is equal to the
sum of the ages of his 5 children. After
15 years, the sum of the ages of the
children will be twice the age of the
father. The father's age is

(A) 45 years

(B) 50 years

(C) 35years

(D) none of these

A is thrice as good as B and is therefore
able to finish a piece of work in 60 days
less than B. The time taken by them if
they both work together is

(A) 15 days (B) 22.5 days

(C) 22 days (D) none of these

A sum of money doubles itself in
10 years. The number of years it would
triple itself is
(A) 25vyears
(C) 20years

(B) 15 years
(D) None of these

Which among the following is a
homogeneous differential equation ?

(A) 2xydy — (x* + y3)dx =0

(B) (x®—3y?)dx +2xy=0

(C) y2dx—(x*-xy—y?)dy=0

(D) (2x—3y-5)dy—(3y—9x—6)dx=0

56.

57.

58.

59,

60.
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In a survey of 1000 consumers it was
found that 720 consumers liked product
A and 450 liked product B. The least
number that must have liked both the
products is
(A) 270
(C) 170

(B) 100
(D) 450

A number which when decreased by
20 is equal to 69 times the reciprocal
of the number. The number will be

(A) 10 (B) 23
(C) 32 (D) None of these

Ratio between the girls and boys in a
class of 40 students is 2 : 3. Five new
students joined the class. How many
of them must be boys, so that the ratio
between girls and boys becomes 4 : 5 ?

(A) 4 (B) 3
(C) 2 D) 1

The average age of Ashok and Abdul is
45 years, the average age of Abdul and
Anthony is 50 years and the average
age of Anthony and Ashok is 35 years.
The age of Ashok is

(A) 25 years (B) 30 years
(C) 40 vyears (D) None of these

A dealer buys 200 quintals of wheat
at Rs. 1,200 a quintal. He spends
Rs. 10,000 on transportation and storage.
He then sells wheat at Rs. 13 per kg.
Profit/Loss percentage will be

(A) 4%

(B) 2%

(C) 10%

(D) None of these
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54.

55.
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30 fFfi 5o ° A B 392 3iferes o
2 | 7ig afe A AU It ST F A
?, A1 98 B 1.5 521 31 et Sian 2 |
A (Rt /e ) 2

(A) 5 ® 3

20

(C) 55 © =

o e 1 311y 36 5 s Y T F A
& TS 2| 15 8T 18 Sreal 2 37 T A
foan 1 g F A | o i g R
(A) 4539

(B) 5049

(C) 35

(D) ¥ & FIE e

A, BE d1H 1o 371 2 3R B ¥ 60 fad &
THT T Teh A =i WHTS &L ehell & | F1S
T A1 I G ®, T EHT o FRT o
T T 2
(A) 15T
(C) 22f

(B) 22.5f=
(D) =7 & =iE 7

T YT 10 99T H g3 1 IHET H et
2 | Ge & T[T % ¥ @ 91 99
T ?

(A) 2598
(C) 20ad

(B) 1598
(D) Z & FE T

fafafaa 4 @ w9 a9 sEEd
i & 7

(A) 2xydy — (x3 +y3)dx =0

(B) (x*—3y?)dx +2xy =0

(C) y2dx — (x2 —xy —y?)dy = 0

(D) (2x -3y~ 5)dy - (3y —9x —6)dx =0

56.

o7.

58.

89,

60.
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1000 TSI & Tk G901 § I I 71 ok
720 e 4 I A 1 99e T 3R 450
3 B 39T I T6E fHA1 | 98 <Faw Te
e 21 3carel i uEe T, 9 8

(A) 270 (B) 100

(C) 170 (D) 450

Us T 5 | 20 i " & 918 98
30 &A1 % ok 1 69 T & ST 2
e gl

(A) 10 (B) 23

(C) 32 (D) 399 9 &8 T
40 faenfeiai € v wen § Sl 3R

A o sie F1 U 2 : 32 | Ui 7T
feremeff =rem o 3t 31w | 399 | foRaA ek
BIH 3G9I § a1 Tefhdl 31K A #
offel 1 TG 4 : 581 91T ?
(A) 4 (B) 3
C) 2 (D) 1

71T 31 STege i SfiEa 1Y 4599 2,
3Yeg SR U Y e 31 50 T B
3T Ut ST o7eiveR shi offed 3T 35 9N
2| A I 3T B
(A) 2539
(C) 4099

(B) 3098
(D) 38 | I3 A

T Sier A 200 fFee 18 1,200 %. H @l |
38 10,000 %, IREEA 3N HERU W @
e | 359 f 133 sfa frm f a1
=) I /=T i 2t

(A) 4%

(B) 2%

(C) 10%

(D) T | i3 e
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iv) Hindi Language and Comprehension

2= st s
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(A) STeiqE
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guTg 2|

(B) wgsitfe
(D) 51

ST 3188 | S T FaHaTAl Yo 7l
F__ dfgdgl

(A) STIETEH

(B) FaTa
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(D) HIEdT=H
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(A) HEEH

(B) i

(C) UM
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76.
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TTH I AT T AT T IETE
TR 7

(A) 8 e 3T

(B) et Fart

(C) =& FHTH L TH

(D) qH@1TF

e ol oA |(FEEE
%)

(A) E () =0

(C) = (D) ferdh

Tk 3 U WE BFT 39 GeTal 1 379 2
(A) TTIETETE AT

(B) et TTetd st

(C) Tom faeg =l

(D) Wl § wIfad B

TTH T FH] 958 FULT 6] FH
TgieTe TE & 7
(A) 9

(C) =R

(B) I&d
(D) 1=

Tq + ITE =
(A) HeE
(B) =™
(C) HarEA

(D) T=aTE



MKG-XXI/TECHLWO/1T/04

v) English Language and Comprehension

SIS W 3

Changé the voice of the following sentences :

81. The queen was given an affectionate
welcome. _
(A) An affectionate welcome given to
the queen
An affectionate welcome had given
to the queen
Someone had given the queen an
affectionate welcome
The people gave the queen an
affectionate welcome

(B)
(C)

(D)

82. People speak English all over the

world.

(A) English is spoken all over the
world

(B) Englishis being spoken all over the
world

(C) All over the worid English is
spoken

(D) English is spoke all over the

world

Fill in the blanks with appropriate words from
the given options :

The specific theory of relativity was (83)

in a scientific journal at the turn
of this country. Since that time Einstein has
become as (84) as generals and
great political leaders. In one way, this is not

(85) because his theory caused a
(86)
83. (A) edited (B) released
(C) published (D) opened
84. (A) well known
(B) happy
(C) pleased

(D) generous

-18-

85. (A)
(B)
(%)
(D)

shocking
surprising
pleasing

none of the above

86. change
evolution
revolution

reformation

(
(
(
(

Sowr

Select simple present from the following
sentences :

87. (A) | believe you

(B) She got up when the alarm clock
went off
She was shaking with anger as he
left the hotel
She is eating

(©)

§—y

(L)

Fill in the blanks with appropriate preposition :

88. linquired him whether he
would come with us.
(A) about (B) after
(C) of (D) with
89. The stoic is indifferent
pleasure and pain.
(A) to (B) of
(C) from (D) off

Select the part of the sentence which has an
error :

90. We had been to Delhi last week.
(A) we had been
(B) to Delhi
(C) last week
(D) no error




91. She has been waiting since four hours.
(A) she has been

(B) waiting since

(C) four hours

(D) no error

Select the sentence which is in past perfect :

92. (A) He had visited Moscow
(B) She has been staying here for
many years
(C) The patient has slept
(D) Mr. Sampath went abroad

Select the adverb particle from the following
sentences :

93. They called the doctor in.
(A) they
(B) called
(C) the doctor
(D) in

94. You must send them back.
(A) you

(B) must send

(C) them

(D) back

95. Change the following sentence into

complex :

“l have no money to lend you”

(A) | have no money that | can lend
you

(B) | can’t lent money for | have no
money

(C) Ihave no money so | am not going
to lend you

(D) None of the above

MKG-XXII/TECHLWO/1T/04

96. ‘Il was surprised to see his obstinacy’

(A) | was so surprised that he is
obstinate

(B) | was surprised when | saw his
obstinacy

(C) | was surprised for his obstinacy

(D) None of the above

Choose the correct synonym of the word
underlined in each sentence from the
alternatives given below :

97. Everyone thought that it was a judicious
remark.

(A) thoughtful
(B) sensible
(C) witty
(D) cruel

98. He thought that the Dutch were a parcel

of avaricious men.
(A) happy

(B) smart

(C) greedy

(D) lazy

Choose correct one word substitute for the
following :

99. “A cruel or oppressive ruler”’
(A) Glutton
(B) Chaos
(C) Tyrant

(D) None of the above

100. ‘A long walk usually for exercise or
pleasure’.

(A) ramble

(B) stroll

(C) loiter

(D) none of the above
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105.

106.
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SECTION-B

MKG-XXI/TECHLWO/1T/04

Post Specific Subject — Related Questions

provides a set of instruments to
bridge the gap between vulnerable and
non-vulnerable groups.
(A) Social assistance
(B) Social institution
(C) Social security
(D) Social insurance

The first country to introduce a policy
of free universal primary education

(A) India (B) Australia

(C) Uganda (D) Germany

is a belief or attitude that elite
are the people whose views on a matter
are to be taken most seriously.
(A) Elitism
(B) Populism
(C) Totalitarianism
(D) Conventionalism

are clearly specified ideas
deriving from a particular model.
(A) Concepts (B) Hypothesis
(C) Theories (D) Framework

A test which duplicates many of the
activities and problems an employee
faces while at work is called

(A) Simulation test

(B) Assessment test

(C) Achievement test

(D) Aptitude test

The most essential step in the selection
process is the

(A) Group Discussion

(B) Panel Discussion

(C) Interview

(D) Written Test

107.

108.

109.

110.

111,

The features of Qualitative Research

(A) Probability sampling adopted

(B) Only one approach adopted

(C) Variety of approaches and
methods

(D) Statistical tests to be applied

made several important

contributions to economics, sociology

and moral philosophy.

(A) Ibn Khaldun

(B) Paul Krugman

(C) Vilfredo Pareto

(D) Vladimir Lenin

When an individual encounters tensions
as a result of incompatibie roles, it
results in

(A) Role confusion

(B) Role strain

(C) Role conflict

(D) Role distance

In which year did Social Work Education
begin in India ?
(A) 1926
(C) 1936

(B) 1930
(D) 1943

Which one of the following felt that
groups containing of two or three
persons are quasi groups and do not
need group norms ?

(A) George C. Homans

(B) Karl Mannheim

(C) Roselle Kurland

(D) Samuel Slavson
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107. TUTTcHe STFEa i faeryard #=n & ¢

(A) AT 4 it GHTEAT Bl AT
(B) Fac Ueh gfSeahivT sl STGHI
(€) fafaw gfewm iv it

(D) Wi wiegor &1 394

eI, GHTSIITE 37 Afd
GEREFRE P URILCENCY

(A) 35 Tegd

(B) dfet A

(C) Toewet urat

(D) SATRGHR A

W ¢ AfFa ST gftekret & gfom
WEY g9 H1 HiHAT HAT 2, ql SEHhT
gftory &1 wehal 7

(A) ¥fer1 1 9w

(B) fFeFl g

(C) ifershr = ferw werd

(D) ffHh 6 &l

T H wETore e e fo o yE g 7
(A) 1926 (B) 1930

(C) 1936 (D) 1943

frefefaa # | fore ey T fw et
o safwEt & aug, od o ® o 3%
TR UGS 1 AR A8 © ¢

(A) S =, BHE

(B) el BTeH

(C) T8 Fcis

(D) B TATTEA




112.

Public Administration is all about

(A) Integrity

(B) Governance

" (C) Sustainability

113.

114,

115.

116.

EAT:

"29.

(D) Accountability

‘ is a term used to describe
people having some special needs, who
come together to form a group to meet
these needs.

(A) Common interest group

(B) Educational group

(C) Task group

(D) Therapy group

are conflicts arising on account
of non-fulfilment of specific demands.
(A) Endogenous conflicts
(B) Realistic conflicts
(C) Exogenous conflicts
(D) Non realistic conflicts

As per the ESI Act 1948, the Employee
State Scheme was introduced in the
year

(A) 1950
(C) 1952

(B) 1951
(D) 1953

A pre-requisite for the functioning of a
social unit such as a group is termed as
(A) Control (B) Power

(C) Order (D) Authority

The author of the book “Social Group
Work : Principles and Practice” is

(A) H.Y. Siddhiqui

(B) Harleigh B. Trecker

(C) G. Konopka

(D) Charles H. Zastrow

118.

118.

120.

121.

122.

123.
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National Association of Social Workers
is the organisation of
professional social workers in the
world.

(A) Second largest
(B) Seventh largest
(C) Largest

(D) Fifth largest

The author of the book “Theory and
Practice of Social Case Work” is

(A) Florence Hollis

(B) Mary Richmond

(C) Gordon Hamilton

(D) Jane Adams

Who can help to settle disputes
between conflicting parties and restores
communication between them ?

(A) Evaluator

(B) Mediator

(C) Counsellor

(D) Enabler

Social work assessment is commonly
called

(A) Sociological assessment

(B) Psychological assessment

(C) Sociocultural assessment

(D) Psychosocial assessment

Which one of these is/are a development
organisation ?

(A) UN DESA

(B) UNESCO

(C) UNDP

(D) All of the above

Which continent has the highest number
of working poor ?
(A) Asia

(C) Africa

(B) Europe
(D) Australia
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The major goal of research
is to describe events, phenomenon and
situations.

* (A) Experimental

125,

126.

127.

128.

129

130.
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(B) Exploratory
(C) Descriptive
(D) None of the above

scale is the scale which
has an absolute zero point of origin and
which explains proportion of one value
to another.
(A) Nominal
(C) Interval

(B) Ordinal
(D) Ratio

One of the following is a characteristic
of content analysis
(A) Subjectivity
(C) Quality

(B) Objectivity
(D) Quantity

The term gerontology was coined in the
year

(A) 1921
(C) 1931

(B) 1929
(D) 1939

In the 1920’s there was a shift from
to hospitals in the treatment of

persons with mental iliness.

(A) Ashrams

(B) Asylums

(C) Rehabilitation centres

(D) None of the above

The Indian Society of Psychiatric Social
Work was established in the year

(A) 1960 (B) 1965

(C) 1970 (D) 1975

The role of a social worker in the field
of mental health is

(A) Multidimensional

(B) Individualistic

(C) Integrated

(D) Dynamic

131.

132.

133.

134.

135.

136.

137.
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Which one of the following is not a
Universal Right ?

(A) Right to Freedom

(B) Right to Life

(C) Right to Own Property

(D) Right to Learn

In which year was the convention of
the Rights of Persons with Disabilities
adopted ?

(A) 2004 (B) 2005

(C) 2006 (D) 2007

The Child Marriage Restraint Act, 1929
prohibited marriage of minors under the
age of

(A) 12 years
(C) 16 years

(B) 14 years
(D) 18 years

Which one of the following does not
come under mass media ?

(A) Television (B) Radio

(C) Newspaper (D) Telephone

The need to form attachments with
others is termed as

(A) Association
(C) Attraction

(B) Affiliation
(D) Attention

Name the psychologist whose social
learning theory states that aggression
is learned much like any other human
behaviour.

(A) Albert Bandura
(B) Ivan Pavlov

(C) B.F. Skinner
(D) Wolfgang Kohler

The motivation to increase another
person’'s welfare is called

(A) Egoism (B) Socialism

(C) Individualism (D) Altruism
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A club is an example for
(A) Primary territory
(B) Secondary territory
(C) Public territory
(D) Private territory

can be defined as
over generalized beliefs about a group
of people.

(A) Discrimination

(B) Stereotype

(C) Prejudice

(D) Bias

The process through which one member
of a group influence another member
towards attainment of shared group
goals is termed as
(A) Leadership
(C) Motivation

(B) Attitude
(D) Monitoring

Identify the person credited for first rated
attitude measurement methodology.
(A) Louis Guttman
(B) Emory S. Bogardus
(C) Rensis Likert
(D) Louis Leon Thurstone

asserts that the only valid
way to gain knowledge about social
phenomena, processes and events is
by using the scientific method.
(A) Critical social psychology
(B) Experimental social psychology
(C) Education social psychology
(D) Clinical social psychology

One of the following philosopher
believed that individuals were naturally
sociable which is why we live together
(A) Socrates (B) Aristotle

(C) Plato (D) Democritus
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Changing your behaviour to be more -
like others is called

(A) Conformity
(B) Compliance
(C) Obedience
(D) Discipline

Which of the following is/are means of
non-verbal communication ?

(A) Facial expression

(B) Body movement and posture

(C) Eye contact

(D) All of the above

The second generation of Human Rights
enshrined in Article 22 to 27 of the
declaration are called

(A) Collective Rights

(B) Basic Rights

(C) Negative Rights

(D) Positive Rights

If information received first is weighted
more heavily than the information
received later is known as

(A) Secondary effect

(B) Primacy effect

(C) Halo effect

(D) None of the above

The Constitution under Fundamental
Rights Provisions guarantees to all
citizens irrespective of caste, creed,
sex, religion

(A) Right to Equality

(B) Right to Protection of Life and
Personal Liberty

(A) and (B)

None of the above

(©)
(D)
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The main techniques of public
administration that can be applied in
all situations

(A) Planning, staffing, directing,
organising

Planning, staffing, organising,
directing

Planning, organising, staffing,
directing

Planning, co-ordinating,
organising, directing

(B)
(C)

(D)

Development administration to be
effective and efficient needs to have
one of the following

(A) Socio-economic development

(B) Implementation
(C) People's participation
(D) Idealistic

helps in the study of public
administration through its knowledge
of techniques and tools which can lead
to effective policy making.

(A) Case study approach

(B) Scientific approach

(C) Behavioural approach

(D) Legal approach

research is conducted
by controlling one or more variables and
comparing control and experimental
groups.

(A) Descriptive

(B) Experimental

(C) Diagnostic

(D) Exploratory

The American Association of Group
Work was founded in the year

(A) 1933 (B) 1934

(C) 1935 (D) 1936
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was one of the earliest -
group theorists to highlight that by
group experience individuals become
socialized.

(A) Glasser
(C) Charles

(B) Cooley
(D) Konopka

In India the concept of group work

practice was largely influenced by the
work of

(A) Harleigh B. Trecker
(B) Gordon Hamilton
(C) Edmond Cartwright
(D) Alex Gitterman

The set of alternatives to the null
hypothesis is referred to as

(A) Alternative

(B) Logical

(C) Simple

(D) Statistical

___research is a study measuring
the effectiveness of an action.
(A) Experimental (B) Evaluation
(C) Diagnostic (D) Exploratory

is a characteristic that
takes on two or more values.

(A) Concept (B) Construct

(C) Variable (D) Hypothesis

research employs use of
statistical analysis.

(A) Qualitative
(B) Quantitative
(C) Secondary
(D) Both (A) and (B)
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Which of the following is /are
psychoactive substances ?
(A) Alcohol

(B) Opioids

(C) Amphetamine

(D) All of the above

The treatment of alcohol withdrawal
symptoms is

(A) Immunotherapy

(B) Detoxification

(C) Psychotherapy

(D) Desensitisation

Interviewing skill rests on a fundamental
professional attitude called

(A) Tolerance (B) Adaptation
(C) Acceptance (D) Confrontation

The foundation of good governance is
Dharma also called

(A) Righteousness

(B) Prosperity

(C) Transparency

(D) Integrity

A social case is composed of
factors.

(A) Internal
(B) External
(C) Environmental
(D) All of the above

The Trade Unions Act was passed in

the year at the Centre.
(A) 1926 (B) 1928
(C) 1930 (D) 1932
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One of the following is not a technique -
of group decision making
(A) Delphi technique

(B) Heuristic technique
(C) Synectics technique
(D) Euphemism technique

Social work groups are designed for
(A) Research

(B) Skill building

(C) Profit

(D) Social welfare

Which of the following is/are styles of
supervision ?

(A) Autocratic

(B) Anarchic

(C) Democratic

(D) All of the above

Which of the following is not a channel
of communication ?

(A) Grapevine (B) Lateral

(C) Upward (D) Downward

means harmonious
combination or interaction.

(A) Operation

(B) Communication
(C) Coordination
(D) Administration

According to Henry Fayol, the right
to give orders and the power to get
obedience is called

(A) Responsibility

(B) Superiority

(C) Authority

(D) Monitoring



160.

161.

162.

163.

164.

1635.

31=

frafafiga 3 @ S aEinfEs
uaref 2 7

(A) TS

(B) =it e

(C) whefm

(D) Iwea &+f

IS TATER 3 &0 o foru STam s @ 7
(A) wire Taferem

(B) fawswm

(C) wifaferen

(D) fergmeteRm

F1Y1 HifeTeh USTER 91 TR HhiIve
wiskwaz?

(A) WEfidar  (B) AFRTH

(C) wirpfd (D) ferra

TETEA = g o = e @ 7
(A) =TT W

(B) &g

(C) UREITHdl

(D) AR

T TS qTHe FH
TAAIE |

(A) aiE

(B) =&l

(C) e

(D) ST @

< gft srferfagm 1 &g d o
T grfed foRm e |

(A) 1926 (B) 1928
(C) 1930 (D) 1932

166.

167.

168.

169.

170.

i

MKG-XXI/TECHLWO/1T/04

Frefefaa & & F aqe Folg o7 f
TR el & 7

(A) Sl TFATH

(B) TIRFE i

(C) TTINUT qeheA1h

(D) Tereife aeiah

gty 1w forg o for fesea fa
TRE 7

(A) TIEEH

(B) =Ivret fas™

(C) T
(D) THTRI T

Frafafaa 3 @ S ez H Odt 2 2

(A) Fgw

(B) TSF

(C) rRailh

(D) I weft

Freaferfiaa o @ e duss Ao 7€ R 2

(A) TTaTEH (B) T

(C) 3= (D) = SHaTen
TTHSTEIYY] TS 1 TREIRE

foram-famst 21

(A) STETIR

(B) HU§OT

(C) TH=T

(ELE!

T I % STTEN, AR 34 1 SAHR
3T HATFHTHTIAT U7 i bl Tfed il hal
EIGIE

INRELE

(B) aftsaan

(C) WTfereRR

(D) frmrt



172,

173.

174.

175.

176.

-32-

The range of direct, habitual
communication contacts between the
Chief Executive of an Enterprise and
his Principal Fellow Officers is called
(A) Delegation

(B) Span of control

(C) Matrix structure

(D) Unity of command

Knowing what the public expects
and explaining how administration is
meeting these desires is called

(A) Social relations

(B) Personal relations

(C) Public relations

(D) Domestic relations

The model which terms disability as a
problem arising out of external sources
like disease, trauma and accident is
called

(A) Professional model

(B) Medical model

(C) Tragedy model

(D) Moral model

One of the important characteristics of
a profession is that it should have

(A) Guiding principles
(B) Philosophy

(C) Code of ethics
(D) Assumptions

was the first unifying
theoretical base to clinical social work
practice.

(A) Social Case Work

(B) Social Group Work

(C) Social Work Research

(D) Social Action
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Identify the appropriate type of group for
youth to discuss their problems faced
and to look for solutions.

(A) Educational group

(B) Task oriented group

(C) Support group

(D) Therapeutic group

Organisations have formed groups
of employees to manage canteen,
transport services. They are

services.

(A) Maintenance

(B) Productivity Improving

(C) Welfare

(D) Recreational

implies that the individual
learns about values, norms, acceptable
behaviour and life style through
interaction with others.
(A) Psychosocial learning
(B) Social learning
(C) Constructive learning
(D) Behavioural learning

is an empirically verifiable
observation.
(A) Concept
(C) Construct

(B) Fact
(D) Variable

is a process of re-education
of both conscious and unconscious
awareness including both the present
and the past.
(A) Behaviour therapy
(B) Music therapy
(C) Art therapy
(D) Psychotherapy
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Concepts which referto characteristics
of objects such as height, weight, attitude
are called concepts.

(A) Concrete

(B) Construct

(C) Abstract

(D) None of the above

is used to measure
social attitudes, social processes of
adjustment.

(A) Socio-metric scale

(B) Multidimensional scale

(C) Cumulative scale

(D) Semantic differential scale

A very important step in the post
detoxification phase for alcohol
dependence is

(A) Occupational rehabilitation
(B) Psychosocial rehabilitation
(C) Social rehabilitation

(D) Medical rehabilitation

Is a set of generalisations
which are deduced from one another
and are interrelated.

(A) Theory (B) Concept
(C) Variable (D) Construct

A graphic representation in which an
individual or family is placed within the
context of their social system is called
(A) Genogram

(B) Family tree

(C) Social matrix

(D) Ecomap
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A phase when employees assume
responsibilities for administering
and directing work operations, for
managing execution of programmes
and formulation of plans for future
organizational action is known as

(A) Special Phase

(B) Middle Phase

(C) Management Phase

(D) Generalist Phase

is one of the gateway to
understand the feelings of people.

(A) Facial expression

(B) Observation

(C) Empathy

(D) Sympathy

The core skills needed for social workers
are

(A) Communication

(B) Listening

(C) Observation

(D) All of the above

The first person to study and describe
the stages of group development

(A) Robert Bales

(B) Bruce Tuckman

(C) Roselle Kurland

(D) J.C. Klein

Reverting to less mature behaviours
that are characteristic of earlier stages
of development is called

(A) Sublimation

(B) Displacement

(C) Regression

(D) Rationalisation
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The first step in the effort to establish
charity work as a profession was the
establishment of

(A) Training schools
(B) Training community
(C) Training practitioners
(D) None of the above

The principles, theories and methods of
social case work were first identified by

(A) Richard C. Cabot

(B) Mary Richmond
(C) Jane Adams
(D) Ellen Gates

Course of action adopted by the
government which relates to the social
aspects of life and designed to improve
the welfare of its citizens is called

(A) Social justice (B) Social reform
(C) Social policy (D) Social action

The following factor/factors affects
social cohesion

(A) Stability

(B) Size

(C) Support

(D) All of the above

Which one of the following is a basic
concept in psychology of vital importance
for social work profession ?

(A) Heredity

(B) Social Environment

(C) Social Learning

(D) Social Behaviour
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The need for achievement is motive to
accomplish things and be successful
in performing tasks. ldentify the
appropriate motive.

(A) Biological motive

(B) Social motive

(C) Psychological motive

(

D) Psychosocial motive

An understanding of psychology helps
and supports the various areas of

(A) Case work practice

(B) Group work practice

(C) Community work practice

(D) Social work practice

Psychology which looks into understanding
needs of employees improving their
morale and in turn increase their
output

(A) Industrial psychology

(B) Educational psychology

(C) Social psychology

(D) Clinical psychology

The major contribution in the field of
personality development comes from

(A) Eric Erikson

)
(B) Sigmund Freud
(C) Albert Bandura
(D) Elizabeth Hurlock
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IMPORTANT INSTRUCTIONS TO CANDIDATES

seefami 3 fore et srgEw

This booklet contains 40 pages.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (@) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wrong Method

0800

Wrong Method

CoO00O

Wrong Method

0®@0O0

Correct Method

O@00

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
question. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (@) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.
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Go through instructions given in Page No. 1 (Facing Page)
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